

Equivalence Problem of Geometric Structure

2011/01/28 at RIMS

On the auspicious occasion of
Prof. Miyaoka and Prof. Yamaguchi
brimming with Math spirit

Meijo Univ. Department of Math.
Tetsuya OZAWA



Abstract

There has been many results on equivalence problems of geometric structures along with the method of É. Cartan, which consists of several processes of prolongations to higher order jet space, absorptions of torsion, extracting curvatures, and so on. In a series of joint works with Prof. H. Sato, we introduced *systems of linear PDEs* in connection with certain geometric structures, such that the integrability condition of the system is equal to the vanishing of curvatures and its solutions give the equivalence maps.

In this talk, I will discuss on pseudo-Hermitian structure (roughly speaking, a contact form together with an integrable complex structure J along the contact distribution), and give a system of linear PDEs that solves the equivalence problem for pseudo-Hermitian structure in dimension three.

Contact structure on Heisenberg group

$$H = \mathbb{C} \oplus \mathbb{R} \ni (z, t) ; (z, t) \cdot (w, s) = (z + w, t + s - 2\Im(z\bar{w}))$$

is the *Heisenberg group*. Using notation $\mathbb{C} \oplus \mathbb{R} = \mathbb{R}^3 \ni (z, t) = (x, y, t)$, define right invariant vector fields

$$v_1 = \frac{1}{2} \frac{\partial}{\partial x} + y \frac{\partial}{\partial t}, \quad v_2 = \frac{1}{2} \frac{\partial}{\partial y} - x \frac{\partial}{\partial t}, \quad v_3 = \frac{\partial}{\partial t}$$

and 1-forms

$$\alpha_1 = 2dx, \quad \alpha_2 = 2dy, \quad \alpha_3 = dt + 2(xdy - ydx) = dt + \sqrt{-1}(zd\bar{z} - \bar{z}dz)$$

are called *Heisenberg frame* and *Heisenberg coframe*, which satisfy

$$\begin{aligned} [v_2, v_1] &= v_3, & [v_3, v_1] &= [v_3, v_2] = 0, \\ d\alpha_3 &= \alpha_1 \wedge \alpha_2, & d\alpha_1 &= d\alpha_2 = 0. \end{aligned}$$

Fix a contact form $e^\eta \alpha_3$, and denote by \mathcal{D} the contact distribution, which is spanned by v_1 and v_2 ;

$$\mathcal{D} = \{v_1, v_2\}.$$

The *Reeb vector field* of the contact form $e^\eta \alpha_3$ is

$$T_\eta = e^{-\eta} v_2(\eta) v_1 - e^{-\eta} v_1(\eta) v_2 + e^{-\eta} v_3.$$

and satisfying $e^\eta \alpha_3(T_\eta) = 1$ and $\mathcal{L}_{T_\eta}(e^\eta \alpha_3) = 0$.

CR structure based on \mathcal{D}

A *CR structure* on (H, \mathcal{D}) is a decomposition

$$\mathbb{C} \otimes \mathcal{D} = \mathcal{D}_{(1,0)} \oplus \mathcal{D}_{(0,1)}.$$

For any complex valued functions f and g on H , the line fields

$$\mathcal{D}_{(1,0)} = \mathbb{C}(fv_1 + gv_2) \text{ and } \mathcal{D}_{(0,1)} = \mathbb{C}(\bar{f}v_1 + \bar{g}v_2)$$

defines a CR structure if and only if the imaginary part of $\sigma = g/f$ does not vanish;

$$\Im(\sigma) = \Im(g/f) \neq 0.$$

Let $Z_\sigma = v_1 + \sigma v_2$.

$$\begin{array}{ccc} \{\text{CR structures on } (H, \mathcal{D})\} & \longleftrightarrow & \{\sigma : H \rightarrow \mathbb{C} ; \Im(\sigma) \neq 0\} \\ \Downarrow & & \Downarrow \\ \mathbb{C}Z_\sigma \oplus \mathbb{C}\bar{Z}_\sigma & \longleftrightarrow & \sigma \end{array}$$

Integrability condition is automatic, since H is 3-dimensional.

Given a CR structure Z_σ , a unique linear complex structure J_σ of each \mathcal{D}_p whose complexification has the same eigenspace decomposition $\mathbb{C}Z_\sigma \oplus \mathbb{C}\bar{Z}_\sigma$.

$$\boxed{Z_\sigma \longleftrightarrow \sigma \longleftrightarrow J_\sigma}$$

Equivalence of pseudo-Hermitian structure

Definition. A *pseudo-Hermitian structure* on U is a combination

$$\left\{ \begin{array}{ll} \text{a contact form} & : e^\eta \alpha_3 \\ \text{a CR structure} & : Z_\sigma = v_1 + \sigma v_2 \end{array} \right\} = (U, \sigma, \eta).$$

A diffeomorphism $\Phi : U_1 \rightarrow U_2$ between two pseudo-Hermitian manifolds (U_i, σ_i, η_i) ($i = 1, 2$) is an *equivalence map* if and only if it satisfies

$$\boxed{(1) \Phi_* : TU_1 \rightarrow TU_2 \text{ commutes with } J_{\sigma_i}, \quad \text{and} \quad (2) \Phi^*(e^{\eta_2} \alpha_3) = e^{\eta_1} \alpha_3}$$

which is necessarily a contact map.

Regard $(V, \sigma = -\sqrt{-1}, \eta = 0)$ as a *standard model* ($V \subset H$).

PROBLEM

Under what conditions does there exist an *equivalence map*

$$\Phi : (U, \sigma, \eta) \rightarrow (V, -\sqrt{-1}, 0)$$

for some $V \subset H$? If this is the case, how can one find Φ ?

Main Theorem

Let (U, σ, η) be a pseudo-Hermitian structure.

$$\left\{ \begin{array}{l} 0 = \bar{Z}_\sigma(f) \\ 0 = Z_\sigma^2(f) - (v_2(\sigma) + 2Z_\sigma(\eta))Z_\sigma(f) \end{array} \right. \quad (\text{F})$$

The maximal dimension of the solution space of (F) is 3; an initial condition

$$(f(p), Z_\sigma(f)(p), \bar{Z}_\sigma Z_\sigma(f)(p)) \in \mathbb{C}^3.$$

Theorem 1. (F) is integrable $\iff \tau = \kappa = 0$

Theorem 2. Suppose (U, σ, η) satisfies $\tau = \kappa = 0$. Then for an *orth-normal* basis $\{f_1, f_2, f_3\}$ with $f_1 = 1/2$ of the solution space of (F),

$$\Phi := (f_2, -\Im(f_3)) : (U, \sigma, \eta) \rightarrow (H, -\sqrt{-1}, 0)$$

is an equivalence map, where \Im is the imaginary part.

♥ **Hermitian product on the solution space of (F)**

$$\langle f, g \rangle_{(\sigma, \eta)} = -\sqrt{-1}(fT_\eta(\bar{g}) - T_\eta(f)\bar{g}) + h^{-1}Z_\sigma(f)\bar{Z}_\sigma(\bar{g})$$

where h is the coefficient of the *Levi form* with respect to $\{Z_\sigma, \bar{Z}_\sigma\}$;

$$h := L(Z_\sigma, Z_\sigma) = -\sqrt{-1}d(e^\eta \alpha_3)(Z_\sigma, \bar{Z}_\sigma) = \sqrt{-1}(\sigma - \bar{\sigma})e^\eta.$$

♥ **p-H torsion τ and T-W curvature κ of (U, σ, η)**

$$\begin{aligned} \tau &= \frac{-e^{-\eta}}{\sigma - \bar{\sigma}} \left(v_2(\eta)v_1(\bar{\sigma}) - v_1(\eta)v_2(\bar{\sigma}) - (v_1(\eta) + \bar{\sigma}v_2(\eta))^2 \right. \\ &\quad \left. + v_1v_1(\eta) + \bar{\sigma}^2v_2v_2(\eta) + v_3(\bar{\sigma}) + \bar{\sigma}v_4(\eta) \right) \\ \kappa &= -2(\bar{\sigma}v_2(\sigma) - \sigma v_2(\bar{\sigma}))^2/(\sigma - \bar{\sigma})^2 \\ &\quad + \left(4(\sigma v_2(\bar{\sigma}) - \bar{\sigma}v_2(\sigma))v_1(\eta) + 4(\sigma^2v_2(\bar{\sigma}) - \bar{\sigma}^2v_2(\sigma))v_2(\eta) \right. \\ &\quad \left. - v_1(\bar{\sigma})v_2(\sigma) + v_1(\sigma)v_2(\bar{\sigma}) - v_1v_1(\sigma - \bar{\sigma}) \right. \\ &\quad \left. + \sigma^2v_2v_2(\bar{\sigma}) - \bar{\sigma}^2v_2v_2(\sigma) - \bar{\sigma}v_4(\sigma) + \sigma v_4(\bar{\sigma}) \right) / (\sigma - \bar{\sigma}) \\ &\quad - \left(2(v_1v_1 + \sigma\bar{\sigma}v_2v_2)(\eta) + (\sigma + \bar{\sigma})v_4(\eta) \right. \\ &\quad \left. + v_1(\eta)^2 + \sigma\bar{\sigma}v_2(\eta)^2 + (\sigma + \bar{\sigma})v_1(\eta)v_2(\eta) + v_1(\sigma + \bar{\sigma})v_2(\eta) \right) \end{aligned}$$

where $v_4 = v_1v_2 + v_2v_1$.

Standard model

Real hypersurfaces. For a real hypersurface M in the 2-dimensional complex space (\mathbb{C}^2 or $\mathbb{C}P^2$), the intersection

$$\mathcal{D}_p = T_p M \cap \sqrt{-1}T_p M$$

is always 2-dimensional, which gives a contact structure on M .

\mathcal{D}_p is closed under the multiplication $J := \times \sqrt{-1}$, and J defines a CR structure on M .

Our model

$$(H, \sigma = -\sqrt{-1}, \eta = 0)$$

$$\begin{array}{ccccc} H & \ni & (z, t) & \mapsto & (z, |z|^2 - \sqrt{-1}t) & \in & \{\Re(w) = |z|^2\} & \subset & \mathbb{C}_{(z,w)}^2 \\ & \searrow \varphi_s & & \Downarrow & & & \Downarrow & & \\ & & [\frac{1}{2}, z, |z|^2 - \sqrt{-1}t] & \in & \{z_0 \bar{z}_2 + z_2 \bar{z}_0 = |z_1|^2\} & \subset & \mathbb{C}P_{[z_0, z_1, z_2]}^2 \end{array}$$

$e^0 \alpha_3 = \alpha_3 = dt + \sqrt{-1}(zd\bar{z} - \bar{z}dz)$ is the standard contact form on H .

The map $\varphi : H \rightarrow \mathbb{C}P^2$ consists of functions $\frac{1}{2}, z, z\bar{z} - \sqrt{-1}t$, which form an orthonormal basis of the solution space of equation

$$\begin{cases} 0 = \bar{Z}_{-\sqrt{-1}}(f) & = (v_1 + \sqrt{-1}v_2)(f) \\ 0 = (Z_{-\sqrt{-1}})^2(f) & = (v_1 - \sqrt{-1}v_2)^2(f) \end{cases}$$

Remark. If $\eta = 0$ (i.e. α_3 were chosen as the contact form), then the Reeb field is $T_{\eta=0} = v_3$.

Remark. If $\sigma \equiv -\sqrt{-1}$, then $J_{-\sqrt{-1}}$ maps v_1 and v_2 to

$$J_{-\sqrt{-1}}(v_1) = v_2 \quad \text{and} \quad J_{-\sqrt{-1}}(v_2) = -v_1.$$

Introduce a Hermitian structure $\langle \cdot, \cdot \rangle_s$

$$\begin{aligned} \langle f, g \rangle_s &= \bar{Z}_{-\sqrt{-1}} Z_{-\sqrt{-1}}(f) \cdot \bar{g} + f \cdot Z_{-\sqrt{-1}} \bar{Z}_{-\sqrt{-1}}(\bar{g}) - Z_{-\sqrt{-1}}(f) \cdot \bar{Z}_{-\sqrt{-1}}(\bar{g}). \end{aligned}$$

Then the 3 functions $f_0 = \frac{1}{2}, f_1 = z, f_2 = z\bar{z} - \sqrt{-1}t$ satisfy

$$\left(\langle f_i, f_j \rangle_s \right)_{i,j} = \begin{pmatrix} 0 & 0 & 1 \\ 0 & -1 & 0 \\ 1 & 0 & 0 \end{pmatrix} \quad \leftrightarrow \quad z_0 \bar{z}_2 + z_2 \bar{z}_0 - |z_1|^2 = 0$$

Remark. A 4-dimensional Lie group acts on $\mathbb{C}P^2$ preserving $(S^3, \varphi_*(\alpha_3))$ invariant.

Idea to solve the problem

$$\begin{array}{ccc} (H, -\sqrt{-1}, 0) & \xrightarrow{\varphi_s} & \mathbb{CP}^2 \\ \Phi \uparrow & \nearrow \varphi & \\ (U, \sigma, \eta) & & \end{array}$$

On the [standard model](#) $(H, -\sqrt{-1}, 0)$, we have

$$(F_s) \quad \begin{cases} 0 = \bar{Z}_{-\sqrt{-1}}(f) \\ 0 = (Z_{-\sqrt{-1}})^2(f) \end{cases} \quad \text{and} \quad \langle \cdot, \cdot \rangle_s \text{ on } \text{Sol}(F_s)$$

$$(s = (\sigma = -\sqrt{-1}, \eta = 0))$$

Imagine we have a contact diffeomorphism $\Phi : U \rightarrow H$, and pull back the standard CR structure and the standard contact form;

$$e^\xi Z_\sigma = e^\xi (v_1 + \sigma v_2) := \Phi^*(Z_{-\sqrt{-1}}), \quad e^\eta \alpha_3 := \Phi^*(\alpha_3)$$

getting ξ, σ, η .

$$\Phi^*(\bar{Z}_{-\sqrt{-1}}) = e^{\bar{\xi}} \bar{Z}_\sigma, \quad \Phi^*((Z_{-\sqrt{-1}})^2) = e^{2\xi} ((Z_\sigma)^2 + Z_\sigma(\xi) Z_\sigma)$$

The fundamental equation

$$(F_{(\sigma, \eta, \xi)}) \quad \begin{cases} 0 = \bar{Z}_\sigma(f) \\ 0 = ((Z_\sigma)^2 + Z_\sigma(\xi) Z_\sigma)^2(f) \end{cases}$$

and the inner product $\langle \cdot, \cdot \rangle_{(\sigma, \eta, \xi)}$ on $\text{Sol}(F_{(\sigma, \eta, \xi)})$

$$\begin{aligned} \langle f, g \rangle_{(\sigma, \eta, \xi)} = & e^{\xi + \bar{\xi}} \left(\bar{Z}_\sigma Z_\sigma(f) \cdot \bar{g} + f \cdot Z_\sigma \bar{Z}_\sigma(\bar{g}) - Z_\sigma(f) \cdot \bar{Z}_\sigma(\bar{g}) \right. \\ & \left. + \bar{Z}_\sigma(\xi) Z_\sigma(f) \cdot g + f \cdot Z_\sigma(\bar{\xi}) \bar{Z}_\sigma(g) \right) \end{aligned}$$

$$\begin{array}{ccc} & \Phi & \\ \swarrow & & \searrow \\ (\sigma, \eta) & \xrightarrow{?} & \underbrace{\Phi^*(F_s), \Phi^*(\langle \cdot, \cdot \rangle_s)}_{\xi, \sigma, \eta} \end{array}$$

Key Lemma

Lemma. Let φ be a contact diffeomorphism. Put $\varphi(\alpha_3) = e^\eta \alpha_3$, and $\varphi^*(Z_s) = e^\xi Z_\sigma$. Then it holds that

$$Z_\sigma(\xi) = -2Z_\sigma(\eta) - v_2(\sigma) \quad \text{and} \quad Z_\sigma(\bar{\xi}) = Z_\sigma(\eta) - \frac{Z_\sigma(\bar{\sigma}) - \bar{Z}_\sigma(\sigma)}{\bar{\sigma} - \sigma}.$$

Proof. Let $e^\eta \alpha_3 = \varphi^*(\alpha_3)$ be the pullback of the contact form α_3 . The vector fields v_3 and

$$e^{-\eta} v_2(\eta) v_1 - e^{-\eta} v_1(\eta) v_2 + e^{-\eta} v_3$$

are the **Reeb vector fields** with respect to the contact forms α_3 and $e^\eta \alpha_3$, respectively. Therefore, one obtains

$$e^{-\eta} v_2(\eta) v_1 - e^{-\eta} v_1(\eta) v_2 + e^{-\eta} v_3 = \varphi^*(v_3). \quad (1)$$

Since $\varphi^*(Z_s) = e^\xi Z_\sigma$, one has

$$\varphi^*([Z_s, \bar{Z}_s]) = [e^\xi Z_\sigma, e^{\bar{\xi}} \bar{Z}_\sigma]. \quad (2)$$

An easy calculation shows that

$$[Z_s, \bar{Z}_s] = -2\sqrt{-1}v_3 \quad (3)$$

and

$$\begin{aligned} [e^\xi Z_\sigma, e^{\bar{\xi}} \bar{Z}_\sigma] &= e^{\xi+\bar{\xi}} (Z_\sigma(\bar{\xi}) - \bar{Z}_\sigma(\xi)) v_1 \\ &\quad + e^{\xi+\bar{\xi}} (\bar{\sigma} Z_\sigma(\bar{\xi}) - \sigma \bar{Z}_\sigma(\xi) + (Z_\sigma(\bar{\sigma}) - \bar{Z}_\sigma(\sigma))) v_2 \\ &\quad + e^{\xi+\bar{\xi}} (\sigma - \bar{\sigma}) v_3 \end{aligned} \quad (4)$$

By (??), (??), (??) and (??), we get

$$-2\sqrt{-1}e^{-\eta} v_2(\eta) = e^{\xi+\bar{\xi}} (Z_\sigma(\bar{\xi}) - \bar{Z}_\sigma(\xi)) \quad (5)$$

$$2\sqrt{-1}e^{-\eta} v_1(\eta) = e^{\xi+\bar{\xi}} (\bar{\sigma} Z_\sigma(\bar{\xi}) - \sigma \bar{Z}_\sigma(\xi) + (Z_\sigma(\bar{\sigma}) - \bar{Z}_\sigma(\sigma))) \quad (6)$$

$$-2\sqrt{-1}e^{-\eta} = e^{\xi+\bar{\xi}} (\sigma - \bar{\sigma}). \quad (7)$$

By (??) and (??), we get

$$2\sqrt{-1}e^{-\eta} Z_\sigma(\eta) = e^{\xi+\bar{\xi}} ((\bar{\sigma} - \sigma) Z_\sigma(\bar{\xi}) + (Z_\sigma(\bar{\sigma}) - \bar{Z}_\sigma(\sigma))),$$

and thus by (??) we obtain

$$Z_\sigma(\bar{\xi}) = Z_\sigma(\eta) - \frac{Z_\sigma(\bar{\sigma}) - \bar{Z}_\sigma(\sigma)}{\bar{\sigma} - \sigma}. \quad (8)$$

Derivating (??) by Z_σ , we obtain

$$2\sqrt{-1}e^{-\eta} Z_\sigma(\eta) = e^{\xi+\bar{\xi}} ((\sigma - \bar{\sigma}) Z_\sigma(\xi + \bar{\xi}) + Z_\sigma(\sigma - \bar{\sigma})),$$

and thus by (??) we obtain

$$-Z_\sigma(\eta) = Z_\sigma(\xi) + Z_\sigma(\bar{\xi}) - \frac{Z_\sigma(\sigma - \bar{\sigma})}{\sigma - \bar{\sigma}}. \quad (9)$$

From (??) and (??), it follows

q.e.d.

$$Z_\sigma(\xi) = -2Z_\sigma(\eta) - v_2(\sigma).$$

The frame $\{Z_\sigma, \bar{Z}_\sigma, T\}$ satisfies

$$\begin{cases} [Z_\sigma, \bar{Z}_\sigma] = -mZ_\sigma + \bar{m}\bar{Z}_\sigma - \sqrt{-1}hT \\ [Z_\sigma, T] = pZ_\sigma - q\bar{Z}_\sigma, \\ [\bar{Z}_\sigma, T] = -\bar{q}Z_\sigma + \bar{p}\bar{Z}_\sigma \end{cases}$$

where $q = -\bar{\tau}$ holds.

Suppose $\tau = \kappa = 0$. Then we have

$$[Z_\sigma, T] = pZ_\sigma,$$

and for a solution f of $(F_{(\sigma, \eta)})$ we have equalities

$$\begin{aligned} \bar{Z}_\sigma Z_\sigma(f) &= mZ_\sigma(f) + \sqrt{-1}hT(f), \\ Z_\sigma T(f) &= \bar{Z}_\sigma T(f) = TZ_\sigma(f) + pZ_\sigma(f) = T^2(f) = 0 \end{aligned}$$

The torsion and the curvature are

$$\begin{aligned} \tau &= \frac{-1}{\sigma - \bar{\sigma}} \left(T(\bar{\sigma}) - \bar{\sigma}\bar{Z}_\sigma(v_2(e^{-\eta})) - \bar{Z}_\sigma(v_1(e^{-\eta})) \right) \\ \kappa &= -\bar{Z}_\sigma(s) + Z_\sigma(m) + m(s - \bar{m}) - \sqrt{-1}hp. \end{aligned}$$

where $s = v_2(\sigma) + 2Z_\sigma(\eta)$.

How to prove the integrability of (F)

Lemma. Suppose (U, σ, η) is a pseudo-Hermitian structure with $\tau = \kappa = 0$. Let \mathcal{A} , \mathcal{B} , and \mathcal{C} be matrices defined by

$$\mathcal{A} = \begin{pmatrix} 0 & 1 & 0 \\ 0 & s & 0 \\ 0 & 0 & 0 \end{pmatrix}, \quad \mathcal{B} = \begin{pmatrix} 0 & 0 & 0 \\ 0 & m & \sqrt{-1}h \\ 0 & 0 & 0 \end{pmatrix}, \quad \mathcal{C} = \begin{pmatrix} 0 & 0 & 1 \\ 0 & -p & 0 \\ 0 & 0 & 0 \end{pmatrix},$$

($s = 2Z_\sigma(\eta) + v_2(\sigma)$) and let \tilde{f} denote the column vector $(f \ Z_\sigma(f) \ T(f))^t$. Then the system of equations (F) is equivalent to the following system of equations:

$$Z_\sigma(\tilde{f}) = \mathcal{A}\tilde{f}, \quad \bar{Z}_\sigma(\tilde{f}) = \mathcal{B}\tilde{f}, \quad T(\tilde{f}) = \mathcal{C}\tilde{f}$$

Vector fields:

$$[v_i, v_j] = \sum_{k=1}^n \gamma_{ij}^k v_k.$$

System of linear PDE:

$$v_i(f) = S_i f \quad \text{for } i = 1, \dots, n,$$

Zero curvature condition:

$$v_i(S_j) - v_j(S_i) + [S_j, S_i] = \sum_{k=1}^n \gamma_{ij}^k S_k \quad \text{for all } i, j = 1, \dots, n.$$

Transformation of the fundamental equation

Our fundamental equation (F) is

$$\begin{cases} 0 = \bar{Z}_\sigma(f) \\ 0 = Z_\sigma^2(f) - (v_2(\sigma) + 2Z_\sigma(\eta))Z_\sigma(f) \end{cases} \quad (\text{F})$$

Below, we use the notation σ_i to mean $v_i(\sigma)$. Reminding $Z_\sigma = v_1 + \sigma v_2$, and derivating the first equation by v_1 and v_2 , we get

$$\begin{aligned} v_1^2(f) + \bar{\sigma}v_1v_2(f) &= -\bar{\sigma}_1v_2(f) \\ v_2v_1(f) + \bar{\sigma}v_2^2(f) &= -\bar{\sigma}_2v_2(f) \\ v_1^2(f) + \sigma(v_1v_2(f) + v_2v_1(f)) + \sigma^2v_2^2(f) &= Av_1(f) + Bv_2(f) \\ v_1v_2(f) - v_2v_1(f) &= -v_3(f), \end{aligned}$$

where $A = \sigma_2 + 2(\eta_1 + \sigma\eta_2)$, and $B = -\sigma_1 + 2\sigma(\eta_1 + \sigma\eta_2)$. Therefore we get

$$v_iv_j(f) = \sum_{k=1}^2 \Gamma_{ij}^k v_k(f) + g_{ij}v_3(f) \quad (i, j = 1, 2),$$

where

$$g_{11} = -\frac{\sigma\bar{\sigma}}{\sigma - \bar{\sigma}}, \quad g_{12} = \frac{\bar{\sigma}}{\sigma - \bar{\sigma}}, \quad g_{21} = \frac{\sigma}{\sigma - \bar{\sigma}}, \quad g_{22} = -\frac{1}{\sigma - \bar{\sigma}}$$

and

$$\begin{pmatrix} \Gamma_{11}^1 & \Gamma_{11}^2 \\ \Gamma_{12}^1 & \Gamma_{12}^2 \\ \Gamma_{21}^1 & \Gamma_{21}^2 \\ \Gamma_{22}^1 & \Gamma_{22}^2 \end{pmatrix} = \frac{1}{(\sigma - \bar{\sigma})^2} \begin{pmatrix} \bar{\sigma}^2 A & \bar{\sigma}^2 B - \sigma(\sigma - 2\bar{\sigma})\bar{\sigma}_1 + \sigma^2\bar{\sigma}\bar{\sigma}_2 \\ -\bar{\sigma}A & -\bar{\sigma}B - \bar{\sigma}\bar{\sigma}_1 - \sigma^2\bar{\sigma}_2 \\ -\bar{\sigma}A & -\bar{\sigma}B - \bar{\sigma}\bar{\sigma}_1 - \sigma^2\bar{\sigma}_2 \\ A & B + \bar{\sigma}_1 - (\bar{\sigma} - 2\sigma)\bar{\sigma}_2 \end{pmatrix}.$$

$$(A = \sigma_2 + 2(\eta_1 + \sigma\eta_2), B = -\sigma_1 + 2\sigma(\eta_1 + \sigma\eta_2))$$

References

◆ Cartan Theory

É. Cartan *Les problèmes d'équivalence*, Œuvres Complètes, Part II, Paris, Gauthier-Villars, 1953, V.2, pp. 1311–1334.

R. Bryant et al (BCGGG) *Exterior differential systems*, Springer-Verlag, New York (1986).

R. Gardner *The method of equivalence and its applications*, CBMS- NSF Regional Conference Series in Applied Mathematics, vol. 58, Society for Industrial and Applied Mathematics (SIAM), Philadelphia, PA, 1989.

T. Ivey and J. Landsberg *Cartan for Beginners*, Graduate Studies in Math., Vol. 61 (2003), AMS.

◆ Schwarzian Derivative

R. Gunning *On uniformization of complex manifolds: the role of connections*, Math. Notes No. 22, Princeton, Princeton University Press, 1978.

M. Yoshida *Fuchsian differential equations*, Aspects of Mathematics, Vieweg, Baunschweig, 1987.

K. Matsumoto, T. Sasaki, and M. Yoshida *Recent progress of Gauss-Schwarz theory and related geometric Structures*, Mem. Fac. Sci. Kyushu Univ., 47 (1993), pp. 283–381.

◆ Contact Structure

H. Sato *Schwarzian derivatives of contact diffeomorphisms*, Lobachevskii J. of Math., 4(1999), pp. 89–98 .

H. Sato and T.O. *Contact Transformations and Their Schwarzian Derivatives*, Advanced Studies in Pure Math., 37(2002), pp. 337–366.

H. Sato, H. Suzuki, and T.O. *Differential Equations and Schwarzian Derivatives*, Noncommutative Geometry and Physics 2005 (Proceedings of the international Sendai-Beijing joint workshop), World Scientific Publishing Co. Pte. Ltd., 2007, pp. 129–149

◆ Conformal Structure

T. Sasaki and M. Yoshida *Linear differential equations modeled after hyperquadrics*, Tôhoku Math. J. 41(1989), pp. 321–348.

H. Sato and T.O. *Conformal Schwarzian derivative and differential equations*, Fourth International Conference on Geometry, Integrability and Quantization, June 6–15, 2002, Varna, Bulgaria, I. M. Mladenov and G. L. Naber, Editors Coral Press, Sofia 2003, pp. 271–283.

◆ Differential Equations

M. Tresse *Détermination des invariants: ponctuels de l'équation différentielle du second order $y'' = \omega(x, y, y')$* , Hirzel, Leipzig 1896.

S. S. Chern *The geometry of a differential equation $Y''' = F(X, Y, Y'Y'')$* , Sci. Rep. Tsing Hua Univ., 1940, pp. 97–111.

N. Kamran, K. Lamb and W. Shadwick *The local equivalence problem for $d^2y/dx^2 = F(x, y, dy/dx)$ and the Painlevé transcendents*, J. Diff. Geom. vol.22(1985), pp. 139–150.

H. Sato and A. Y. Yoshikawa *Third order ordinary differential equations and Legendre connections*, J. Math. Soc. Japan, 50, pp. 993-1013(1998).

H. Sato and T.O. *Linearizations of ordinary differential equations by area preserving maps*, Nagoya Math. J., Vol.156 (1999), pp. 109–122.

◆ Pseudo-Hermitian Structure

N. Tanaka *A differential geometric study on strongly pseudo-convex manifolds*, Lectures in Mathematics, Department of Mathematics, Kyoto University, No. 9. Kinokuniya Book-Store Co., Ltd., Tokyo, 1975.

S. Dragomir and G. Tomassini *Differential Geometry and Analysis in CR Manifolds*, Progress in Mathematics, Vol. 246, Birkhäuser, Boston-Basel-Berlin, 2006.

H. Sato and T.O. *Construction of Equivalence Maps in Pseudo-Hermitian Geometry via Linear Partial Differential Equations*, to appear in KMJ.

e-mail:ozawa@meijo-u.ac.jp